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/ZTF currently calibrated using PAN STARRS

with linear fit:  ZTF = yPS1 . 7P - ¢ (gPS? - (PST)

Possible to use GAIA instead?

| focus only on:

o rfilter

e field of view 759

1st CCD

1st guadrant

obs 505938 from 2020/02/01




space telescope
VEGA magnitudes

§ ground telescope
S :
N AB magnitudes
P |
X |
0.0 - - - |
30 — g oo
038 4 | e
m rmﬁ | ground telescope
06 1
" | | AB magnitudes
kl 0.4 -
021 ', J
0.0 _ | .L
3000 4000 5000 6000 7000 8000 %000 10000 11000

wavelength (A)



PAN STARRS
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rPS1 - ZTF = /P 4+ Cr(gPS1 _ rPS1)

P + data
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rPS1 - ZTF = /P 4+ Cr(gPS1 _ rPS1)
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With GAIA :

std = 0.053

bpgaia - r41F =

residual (obs - model)
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bpgaia_ rZTF - /P + Cr(bpgaia _ rpgaia) + Crz(bpgaia _ rpgaia)z

With GAIA :

-> Quadratic fit
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Results for GAIA and PS
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Time evolution
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Time evolution  (Psr corrected by o)
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calibrated magnitude
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Time evolution

(PS r corrected by Q)
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Time evolution

(PS r corrected by Q)
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Time eVO‘UtiOn (PS r corrected by Q)
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mean (obs filtered)

e linear PS1 (r-g) (median = 0.001)
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mean (obs filtered)
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mean (obs filtered)
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mean (obs filtered)
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time wise statistics
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observation wise statistics
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std (obs filtered)
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Linear fit vs Quadratic fit

QGAIA - rZTF = 7P 4+ c(gGAIA - hpGAIA) 4 ¢’ (gGAIA - hpGAIA)2
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